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Figure. S1 H/V spectra of the remaining 56 stations.
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Figure. S1 continued.
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Figure. S2 The optimum inversion shear-wave velocity models for the remaining 56
stations.



0 0 0 0 0
= Model A w— Model A = Model A = Model A w—— Model A
GMO3 w—— Model B GMo4 w— Model B GMOs = Model B GMO6 === Model B| GMo7 w—— Model B
1000 1000 1000 1000 1000
_ - _ = -
E 2000 E 2000 E 2000 £ 2000 E 200
£ k=] £ =S =)
o o o =% o
5 5 5 5 5
a =] a [a] A
3000 3000 3000 3000 3000
4000 4000 4000 4000 4000
1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000
Vs(ms! Vs(msh Vs(ms™h Vs(ms™h Vs(msh
0 0 0 0 0
= Model A w— Model A = Model A = Model A = Model A
Ni24 Model B NI132 Model B| N140 Model B N1s6 = Model B NI165 Model B
1000 1000 1000 1000 1000
- = = - -
E 2000 £ 2000 £ 2000 E 2000 E 2000
< < < < <
o L o o o o
5 5 5 5 5
a =] =] a [a] |
3000 3000 3000 — 3000 3000
4000 4000 4000 4000 4000
1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000
Vs(ms™h Vs(ms™h Vs(msh Vs(ms™h Vs(ms™h
0 0 0 0 0
Model A e Model A Model A Model A Model A
N173 —— Model B NI182 —— Model B N190 —— Model B N198 =—— Model B N206 —— Model B
1000 1000 1000 1000 1000
— _— - - - -
E 2000 E 2000 E 2000 — E 2000 E 2000
=) L=} g g g
53 53 5 5 3
a a A A A
3000 — 3000 — 3000 3000 3000
4000 4000 4000 — 4000 4000
1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000
Vs(msh Vs(msh Vs(ms™h Vs(ms™h Vs(ms™h
0 0 0 0 0
= Model A = Model A = Model A = Model A w—— Model A
N215 w—— Model B Po61 = Model B P08 w— Model B P090 = Model B| Pil6 = Model B
1000 1000 1000 1000 1000
E 2000 E 2000 E 2000 E 2000 E S0
£ £ £ < < —
o j=3 o o T o
153 153 153 153 153
a a a a [a]
3000 3000 3000 3000 3000
4000 4000 4000 4000 4000
1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000
Vs(ms" Vs(ms" Vs(ms" Vs(ms" Vs(ms"
0 0 0 0 0
= Model A = Modecl A = Model A = Model A = Model A
P124 Model B ST03 Model B ST04 — Model B ST06 s Model B ST07 e Model B
1000 [_ 1000 1000 1000 1000
E 2000 E 2000 E 2000 E 2000 — E 2000
£ £ — £ — £ <
o o o o o
5 5 5 5 o
a a a a a
3000 3000 3000 3000 3000
4000 4000 4000 4000 4000
1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000 1000 2000 3000
Vs(msh Vs(ms™h Vs(ms™h Vs(ms™h Vs(ms™h

Figure. S2 continued.
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Figure. S2 continued.
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Figure. S3 The synthetic H/V spectra and the observed H/V spectra for the remaining
56 stations.
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Figure. S3 continued.
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Figure. S4 H/V spectra calculated using different lengths (1 h, 2 h, 4 h, 8 h) of ambient
noise records for the remaining 56 stations.
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Figure. S4 continued.
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Figure. S5 Uncertainty of the Bedmap?2 ice thickness at each station (after Figure 11,
Fretwell et al., 2013). The locations of the stations are projected to Fretwell’s figure as
the black dots denoted.



